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14-08-2024
I-MBBS
(This paper consists of 2 pages)
First M.B.B.S. (New Scheme) (Main) Examination
August - 2024
Biochemistry
Paper- |
Time: Three Hours
Maximum Marks: 100

Attempt all questions in both sections
[Use separate answer book for each section)

Section-A
1. Fill in the blanks: 4x1=04
a) Wernicke- Korsakoff syndrome may occur due to deficiency.
b} Antidote for methanol poisoning
¢} Glucose is the enly source of energy for organisms.
d) Enzyme pyruvate carboxylase converts pyruvate to
2. Choose the correc] option In the Tollowing multiple cholce quesuons: | Exl=06

i} In contractipg skeletal muscle, a sudden elevation of the sarcoplasmic calciym

concentratign will result in:
a) Adtivation of cAMP dependant protein kinase
b} Co cAMP to AMP by phosphodiesterase
¢} Direct activation of phosphaorylase kinase b
d) Inactivation of phosphorylase kinase a by the action of protein phosphatase- |

i} Ateenager concerned about his welght, attempts to maintain a fat free dietfora
peried of several weeke. If his ability to synthesize various lipids were examined, He
was found to be most deficient in his ability to synthesize:

a) Chelesterol b) Prostaglandins
c) Glycolipids d) Triacylglycerols

jil) Calculate the amount of cholesterol in the low density lipoproteins in an individual
whose lipid panel test results. Total cholesterol = 300 mg/dl, high density lipoprotein
cholesterol = 25 mg/d, Triglycerides = 150 mg/gi;

a) 55 mg/dl b) 125 mg/d
¢) 95 mg/dl e :}:IHIS mg/d|

iv) Which one of statements concerm 4 dis correct?

a) Alanine s ketogenic

jped Lo
b) Amino acids that are catabolize® 0 deety] are glucogenic

180 Py
¢} Branched chain AR are cataboll™® Primariy i, liver

< duals i
d) Cysteine is essential for indViCU" E0NSuming ;o severely limited in

methioning
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a) Arylsulfatase A www.FirstRadexossminidase Aww.FirstRanker.com
c) Sphingomyelinase d) Ceramidase
vi} Deficiency of Vit B12 can cause:

a) Microcytic anaemia b) Normocytic anaemia
¢} Megaloblastic anaemia d) None of the above

/ A 20 year old male suffering from malaria Was treated with chloroquine. He reported to the
emergency with Jaundice & haemolytic anae mid.

a) State the type of Jaundice. oz
b) What is the cause of haemolysis? 02
¢} What is the reaction catalysed by the enzyme? 02
d) How does the deficiency of enzyme lead to haemalysis? 03
) What is the role of this pathway in various cellsin the body? 0g
4. Differentiate between (Any five): 5x2=10
a) Metabolic acidosis and respiratory acidns[s.'yf NADH and NADPH roles:
-.‘5,}4‘ hiamine & Thymine. _;if Hypokalemia and Hyperkalamia.-
3]. t;-.a.tr-rﬂtine & Carotene. - f) Diffusion and osmosis. <
5. Short notes on (Any three): 3x5=15

}-‘I’ Principles|of commu nication iw&w&dﬂ&ﬂﬂ—m
} Severe combined immunodeficiency disorder (5CID). *

¢) Wald's vijual cycle.
-:’u_}r giochemilcal basis of diabetic cataract.

Section-B
j/ Describe the fate of amino acid Nitrogen in body. Give an account of acquired

hyperammonimias and biochemical basis of comain such patients. 20
¥

Ex2=10
7. Explain Why {Any five):
_3( Lipupmteln A is known as little rascal.

.« ianew CAN CAUSE pellagra- ‘
B Tryptephan dE::-I::c:de e lempmﬂ.ﬁttﬂ deliver oxygen at tissue level.
Rappaport Leubr!

SITCA cycle is anabolic. rure is different fro™ other phospholipids.
- ctu
ﬂn‘lpalm“ﬂ'ﬂ 1E=i“ﬂﬂ stru :HEE“T_';.

- a5 thEr'a'F'E“ti
ﬁ prostaglandins are used 4x5=120

g. Explain briefly (AnY four): jectron “aﬂs;ruﬂ thain,
| au uplers and inhibitors ofe
nco
ol "
Endogenous antmmdant .
mes.
<) Therap autic USES of enty

Lipotropic factors. ” _— ﬂiagrafﬂl""
e} Hormonal control of EIYE

nl.'lﬂa'“‘
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